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70 -2lv5
Student: Instructor: Alfredo Alvarez - Assagnmenf&_&;?’_— E
Date: _ COUI’SE Math 1314 Alvarez M13'14COF|ESTAF|NALPRACT|CE028MM
@@e equation by@_@g) 95’ 7o = Tx* _7>< -+ X —/ ;3: 5 ;“’if
4B - 48x = (7x + 1)(x - 1) Y- Yy =T = X—{ -
ST ~6x ~ 7§ T Yix AvShrr oo

The solution set is

I
{Use a comma to separate answers as needed.) — —_
0"7,("—+Cfax-‘f¢ \_X'I 0% ['%

Answer. 1,-7 () = 7(){ = G - )
0= 70(-— D& +1

ID: 1.5.13 K*‘D < T f—f o 04 X7 =0

-~

o T2 i Tedi cgeps Ot
2, Sol\if,m} equation by tlﬁm*).hod of your choice’ F'_? /\/ = 7/ 4+
o= w ___Z
G
v -7x=20 = B = -
%m R G2y, b=, e (7717 ¥ 27
The solution set is { b, < o

(Type an exact answer, using radicals as needed. UUse 2 comma to separate answers as needed.) X —/ 0

Formd S 3 - 2y R
EDLICT TV R C

An —_
.‘-—m\.‘ 2(3) . on X - -
“LHilvac ) — '
6’;?7’ x VEL B AR Xy~ (3)
' a o -
ID: 1.5.83 e

e u‘zm AR
3. Solve the glvew Check all proposed solutions.

V2x+22 =x+7 {:‘Z’(""Z‘)’)t’—x?)

Select the correct choice below and if réecessary C(g the ar)swer bo;t complete your choice.

220 = Xle7xe 75+ 99

) A. The solution set is { }

(Use a comma to separate answers as needed w 44
) B. Thereisnosolution. 2.~ 22 = '7L/ X f

O < Xt —,b/(/)( —+¢g— 22X -2 C/,),EE_E

Answer: A. The solution set is { -3 r.(Use a comma to separate answers as needed.)

Oc )( Tlix +27 m X+ 7

0= Ot +G)
XF3=0o 0O X+§=0

[_p }-—3 “o—5 J< X’fs-_. "‘._)——

e

ID: 1.6.15

/;__1

lof 15~
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4, x"J

TTTT

T

maximum, and use the equation to calculate the relative ? 3]
¢ maximum for each value. 3 } /‘\
b. Use the graph to find any values at which f has a relative SR e
W
( .2 )3 ) ‘a Lt
[ 551 by [~ 12012020] wn/
a. Select the correct choice below and, if necessary, filt in the answer boxes to complete your choice.

The(grap ‘)and equation of the function f are given. fx)= 23 + 3x% - 36x + 9
minimum, and use the equation to calculate the relative
_-minimum for each value.
) A. The function f has (a) relative maxima{maximum) at and the relative
maxima(maximum) are(is)

a. Use the graph to find any values at which f has a relahk
¢ -
(Use a comma to separate answers as needed )

() B. The function f has no relative maxima.

b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice,

) A. The function f has (a) relative minima{minimumy) at and the relative
minima(minimum) are(is)
{Use a comma to separate answers as needed )

(") B. The function f has no relative minima.

Answers A.
The function f has (a) relative maxima{maximum) at -3 and the relative maxima(maximum) are(is)
90 i
(Use a comma to separate answers as needed.)
A,
The function f has (a) relative minima(minimum} at 2 | and the relative minima(minimum) are(is)

(Use a comma to separate answers as needed.)
/ ¢

e é Ce - c"‘:O'/ -
VB VENVEL) A, — Pt

G Xv ¢
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5. The domain of the piecewise function is (- o0,00). x+4 if x< -2
a@@ function. f(x) = _
b. Use your graph to determine the function's range. x=4 if x2-2

a. Choose the correct graph-belg in Surtf

Cﬁ 5./-&)41".,) Cole ol ototn

. (Type your answer in interval notation.) = T )] ]?fA'fH 8"/ ’
Wf( P d ’q _ e X< B ‘ : III.
J’}(—Mﬂ) < =/ M - /("f 9/ ? L) it '&

[ X=huy = (L] g1l 2nD AL H "!
7"14415 T 7o

- : I VZ,:XF— V (X '“‘2.) CL,},
g QM /0 / _ C:,(&
(- c0,00) L — S

ID: 2.2.47 =
- ————Ce— . . — - _'
6.~ o f(x + h} = f(x)
( Find the difference quoll_ﬁtoff that is, fi nq:—h-h— h#O for the following function. Be sure to simplify.
f(x) = x° - 2x+6 7[M ’Y - 2/(’/‘(
f(x + h) = f(x) .
Er— = {Simplify your answer.)

/(/fé)z' ~2 (Xt4)+5) —/)(L‘foc)
(XAl (feth) = 2(Kch) € —x '+ —¢
| Z

X bt xhot h =2 X =2h 46 =K Mt x—6

(th) = )

ID: 2.2.61

[l

XMZK‘“U\ 6~ Xt ¢
h
?.)(A—//;L"Zﬁ_ ¢x4,,_.ﬁf 24
4 - Ta A

Fof 157
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o

7.
+~Use the graph of y = f(x) to graph the function Choose the correct grap) M
Lo gx)=f(x+4)-4. ——

Answer:

ID: 2.5.21

e e ——— i S o e : e
8. Find the gomain of the function - :

_ - ._ ,,/57/_‘/’# o o
f(x)='/m f/’%(_)m c ‘L.‘ a \
What is the domain of f?
) {Type your answer in interval notation.) f 3(/ - '4 )( ~f ‘6 3
Answer: (- ,2] 7%( - m /4:%_{’3 ?’O i
Ak /u S G

iD: 2.6.23 /_ (¢ /O) O/ o
—sX =2 —o
'—5'7< £ "‘/J Loy b ;
ffu..fh 6\7/}0@/ G/du-L{//}
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ch For f(x) =4 = x and g(x) = 4x2 +x +7, find the following functions. lr ( 5 ()(] Y)( )< - 3‘

i i < -~ - é

/64_9/{2_)~ 702)¢ —(7)-;

a. foan=]_ (P = (Fey)r) = ~1()(2) — () -3
{Simplify your answer.) //f(?‘]) = t(- (2) - - (—¢ — 2
b @ef=l____ | /(Vx‘f'xf?) z /4&/ (z) = —2/ %sw“/

(Simplify your answer.) C/ , j
—( ¥ A7)

c. (fog)(2)= : ( L _
4—gq'x~7¢

06 % f
i W I
» L Effi-:z{)? :(() = el
S kN T TR,

10. Find the dista_ngﬁneen the pair of points.

(1,10} and (13,19)

e

e ) ———
(_a (fog)x) b.{gofix) c. (fegl2);d.(goN2) ™

Answers - g2 _y.3

iD: 2.6.59

The distance between the points is units.
{Round to two decimal places as needed.)

Answer: 15 (l/ /U/l ;.,_// ([ 3/ /€J
ID: 2.8.1 {‘ \1‘ (L i

diskenct = U lima) 5/ =9,)C
N UZ(,)_(H))Z_/ /(/d) __?/“:)"j_
diban = UcCi-t5)t (o3
&f‘)’lﬁﬂ(,L’: (_[C_/y l_,&(_c;)_l-:'

dishens =(/ 2z

' L
@{'ﬁhc&, —= /¢ (oY

Sof 15 6/17/2019, 7:31 AN
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p—

(meEIete the square and write the equatlon of the circle in__ *
standard form, Then-determine the center and radius of the

104
circle Eo gragg_,tlje iq__ ation. J

x? +y +2x+10y+1=0 51
)( —(— IX 9 ‘r /Urg - n
The equallon in standard formis . 1
(Simplify your answer.) 24

Use the graphmg tool to graph thecirele. , T o o & 8 10

)(-f-ZX—f (ﬁﬁ)) Y 7"/0)7* ﬂ'(/@) = -f—-f (‘L(Z))#'C /o)j“
)(-FZ)(»F(/} 9 -f/Uj-f‘/s‘) O + (L
Kttt = g Sty 20 = 7] L5

(1) (1) (j—hﬁgﬁf) -

Answers (x + 1)2 +(y+ 5)2 =925

r. =10
\5
) (g T e

Of)ﬂu;r.é N L
Venred= (o

ﬁ%k,_ Ve~ ()

Gofl5 6/17/2019,7:31 AM
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12, =
Use the vertex and intercepls to sketch t@f the Ay
quadratic function. Give the equation of the parabola’s axis iy
of symmetry. Use the graph to determine the domain and B_'
range of the function. ]
& fxy=8x=xf-7 %]
— 44
Use the graphing tool to graph the equation. Use the vertex 2
and cne of the intercepts to draw the graph. ] .
The axis of symmetry is | : 40 8 & -4 -2 3 16 8 10
(Type an equation.) -2
The domain of the function is g _4_-
{Type your answer in interval notation.} 1
-6

The range of the function is :
{Type your answer in interval notation.}

Answers

ID: 3.1.31

Tol 15
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13. Consider the function f(x) = - 3x% + 6x ~ 8. v W[\ 0 Pf-/’ > L in

a. Determine, without graphing, whether the function has a minimum value @Iue.
b. Find the minimum or maximum value and determine where it occurs. —

¢. Identify the function's domain and its range.

a. The functionhasa (1) value.

b. The minimum/maximum value is .ltoccurs at x=

¢. The domain of fis | . {Type your answer in interval notation.)
The range of f is | . (Type your answer in interval notation.)

(1) h m'a:fimum 7%(7 c =3y L,.,:GJ(,_ 7
o a=-, b<¢, c=-3

Answers (1) maximum

- /”74( [/fvlr( ( 7[(
e tadl | fe)

(-0, - 5] 2(- ’s)

ID: 3.1.41 MLK :( :—g-i /éc//

= (1 L)
/e X =(/ ~3(0"+6(1)—3)
prex o (1, =50+ 6CU=
e x :.,(,/ .—}(/)—f—((/)—"f)

Bofls 6/17:2019, 7.31 AM
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14. The following function is given. I CRa 72N i b S ) // /} - )

=7x3 = Ex2 -
f(x) = 7%° - 5x° - 63x + 45 {_c._.;, st
a. List all rational zeros that are possible according to the Rational Zero Theorem. Choose the correct answef below,

Y

17 1 7 1 7 17
tg gttt tiststss

1 7

A, —

® £1,87,2 2,57,
OB 1 7 1 7 1 7 1 7 1 7
. 21,7, 2= :316,15:5.:5.115,11_5,145i T

f;:/_ 1 3 9 5 15 45
Q_ C. +£1,£3,29,£5, 15,45+t =, + = R - +—

A AN AN Ll A A

6 5 15 45

1 32
D, b o e mTif e g — o —
D 11.13.i6.i5.t15.145,i7,t7,:&.!,.17,:‘: T,i' 7

b.U synth—em test several possible rational zeros in order to identify one actual zero. % S< é / (
) . /.

One rational zero of the given function is . }/‘4 ,/_ { J; J

(Simplify your answer.)

c. Use the zero from part {b) lo ﬁn:@lﬂhe_zeg'gf_ tné polynomial function,

The zeros of the function f(x} = 7x3 = 5x2 -63x+45 are ) L < j'A
(Simplify your answer. Type an integer or a fraction. Use a comma to separate a meeded.) / 54
™
Answers 9 5 15 . 45 [
(0 21.43,40.25.415,345, 45,8504 o s = 1 = 1T 7

..... . i T ——/-7
/ e

=33

RN R

D341 3 \7 -5 —§3
il =2 £
7 6 —/5

\ P

N E+lex —I5==
(% — $)& + 2)=u

TX—s TO  OH A3 =2
A= 4x = 0FS O« )(rf'b 2Eu—=—7 |

?! AL =
A2 s | .

’71
\ R o
(=% )

. s

nnnnn

0 —— - — - T2 AN
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15. Find the vertical asy@?ﬂ?nf any, and the values of x correspondmg to holes, if any, of the graph of the rational function.

crs At )(()("6]

T

h9= 7og) QX,-*O o ,\/-G O
P X—6r+¢<= ur G

Select the correct choice below and, if necessary, fill in the answer bor;to comglete your choice. (Type an equation. Use a

comma to separate answers as needed.) /{/ gl \
() A. The vertical asymptote(s) is(are) and hole(s cﬁT?Es_ﬁﬁai:;to

(0 B. There are no vertical asymptotes but there is(are) hole(s) corresponding to

(0 €. The vertical asymptote(s) is(are) . There are no holes.

) D. There are no discontinuities. a n g ‘A/“-'f
Answer: C. The vertical asymptote(s) is(are) x=6,x=0 . There are no holes. “/(/ /

-r‘"-.-'_'_-___-_-___'-_-—-—-_-_'-_.___‘_
ID: 3.5.23 V‘Q’L’C“’( aﬁ?"“ﬂf"/p‘\ l—'._g 0‘/( 4(

"—'—E.T.'_____-_-_-._

- = &
16. Find tIL e horizontal asymptote(ﬂ any, of the graph of the rati J;mal function. _{_(E_L / ¢
/ /6L e / . vt _ .
e I (T e I TRT 5 = e gy 2
£ i + =
a+3 A—=>wp 3 7t —>ne FIp X=>r0 Fa

Select the correct choice below and., if necessary. fill in the answer box to complete your choice. / {

1 A. The horizontal asymptote is . {Type an equation.) (/7‘: <

~) B. There is no horizontal asymptote. 2 / 6

Answer: A. The horizontal asymptoteis  y=4 . (Type an equation.) < \1g14 S
« — S S -
17. Use properties of logarithms expand fﬁ:k:ganthmlc expression as much as possnble Evaluate logarithmic expressions

without us:r:/g:l_ca_lculator if possible. /-fl ) /gq Kt/ > )
In[x ‘ /21(/(‘6’).1/&'1 ‘/ _/d\ (X—FZ)

(X+2)

{ 2} %(X@—f}a({ﬂ) — e (K e) —-/
o &L@W 2 (K52) — G (X42) =

8In x+—|n I'x ’+2) - 9In(x+2) /}'A/S e

(% 14 %@/-—M 5

L) = M-fjw/@'/

ap?) < & A (4]

o - S EFIOTY- T M

Answer:

ID: 4.3.37
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18.k Solve@fcllowmg exponentral equatlon by expressing each side as a power of the same base and then equating

“éxponents. (222 (25")( / -3 )( - -9
4+ 223" 9 XY =9 §C—5 —3X - -9

The solution set is { b —_3 -3

22Xty = SX—5 - -—1/_\//
Answer: 3 2 X s w__ (_/ T S ~S—¢ /{ = 3 b e
ID:4419  2X ~§5f < K —F —

19. <Soglve the following exponential equation by taking the natural logarithm on both sides. Express the solution in terms of
natural logarithms. Then, use a calculator to obtain a decimal approximation for the solution.

508 =770
What is the solution in terms of natural logarithms?

The solution set is
(Use a comma to separate answers as needed Simplify your answer. Use integers or fractions for any numbers in the
exprassion.)

What is the decimal approximation for the solution?

The solution set is { }

(Use a comma to separate answers as needed. Round to two decimal places as needed.)
Answers In ;54 5_€ - 77 5 gé ’:’ % \
0.63 SFC,- 5’1(’ 779 /Z (/4 ) A 4

a @) = |

ID: 4.4.31 B'J( i
e sy S—

e ™) "4 (rcv)
Xx//]‘:: M ([5%)
c A [75v)

% s //rf/)
,27#% o NS\

Ok -:_:a:’é“z G753 D

0 <X_’,—"_0 £3 x\:/ed uumf

Tofl5 ———

— —6/17/2019, 7:31 AM
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20. [ Solve the exponential equation " Express the solution in terms of natural Jogarithms. Then use a calculator to

imal-approximation for the solution. /%1 ( g -Q) (2 /2)

I A41) B (3) = B (2037

What is the solution in terms of natural logarithms? 2%
Py )ﬁa ‘g - LQs )
The solution set is { . QJ ,ZA_. (
m'liphfy yolr

{Use a comma to separate answers as needed. answer. Use integers or fractions for any numbers in the

expression.) {’_(_ 7 - _/@_\ C 2/3 )

What is the decimal approximation for the solution? Ve 37 )

The solution set is { k. ,\/—-f/ /" }‘%l(ﬁ’i_) —_— 7
Ig é gs needed

{Use a comma to separate answers as negdeﬂ._EmndJnm_o decamal p J)

Answers In 213 L )(“ /&q/ J //

In 8 ~— L
:0,5_75722_(5_‘;‘ |

0.58

ID: 4.4.37 Oﬂ@_o 0 S—h _//72 Ju U/

e ___-____‘_'__"'--._______
21 So!ve the logarithmic Equ_amon« Be sure to reject any value of x that is not in the domain of the orlglnwganﬁ?ﬁ o5
M../L

expressmns Give the exact answer.

log 3(x~ 1)+ log 3(x+25)=3 ,CA/’{- {7 %@g)

Select the correct choice below and, if necessary, fill in the answer box to complete yoursheice.
2 A, The solution set is { }.

(Simplify your answer., Use a comma to separate answers as needed.) e
("} B. There is no solution.

Answer: A. The solution set is { 2 b C //"f’ (-[C
(Simplify your answer. Use a comma to separate answers as nzded J
£og, (-1) + Loy, (X+2s)= Y99 ()('-/)"f‘éw (K#15)=3
ID: 4.4.69
40,3 (K~)(Kres) =3 ‘05; (2~1) s, /zfzr) ;

(o (r) #cu (27)_ 3
(¢~ ( x+2v) . -

= e
27 = )(L—f-lfi("b(“z f-xT—\ -

R i (1) = Cogy (X-+25)= 5
O= X'+ 2yx=28+27 C"jg (<26~ (uy, Loi—+¢s) = 2
02 X'+ ~s% 6053(—7;53)-; cu53/-() 2 2

o~ C)("‘@G{ t26) “~—W  —24p 245
(-2=0 ot A7 ge T Grrr—t
120f 15 Q——/ZJ Uﬂ &/ G7/2019. 7:31 AM
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CAec (<

 Solve the loga rlthmlc_equaueh Be sure to reject any value of x that is not-in the domain of the original Iogar?w

expressions. Give the exact answer. /- o5 ¢, ;{j‘rgo) g2 Z 9 r (\4/? 7y - o 5 —s)= 2

log 4(x+103) - log 4,{x-5}=2 e
4 4 ¢ 2 Xyro Zuz (éf/u) ,—&, (6 ~c) = L
Select the correct choice below and, if necessary, f’ lin¥ie Snswer box tnf complete yrfn}%mce 6?
fo . X779 =
1o - A77-
- A. The solution set is { } / N

{Simplify your answer. Use a comma to separate answers as neej At)

o — . .
") B. There is no solution. (6 X—s) = | (X9 )‘fﬂ) Q#W_ (OJ'?(B

[oxX —Fo = Ix7/0 .
Answer: A. The solution set is { 6 }/ﬁ(—ﬁ"-(‘/fc/j: [IX+/v F ;D" —

{Simplify your answer. Use a comma to separate answers as needed.)

/G X 92
/6X —-fx?/ = /XX—f 53— ¥
ID: 4.4.71 /¥X < g o

23.  Complete the _tahlé for a saving® 3 jee et
P 03¢
(a=pe") 1 F005 = Govo C
Amount Invested Annuazl Interest Rate Accumulated Amount Time tin years
$8000 3% $18,000 ?

Let A represent the accumulated amount, P the amount invested, r the annual interest rate, and t the time. Find the time, t.

1000 _ Fow 0 %€ o
t years __—_—-?'C)U —m—h’g /ﬁﬁgi) g/gé

(Round to one decimal place as needg'd J)

L
’- 6_/&(6“’36) G G607 =€ )Lc///,

Answer: 23.1 2 :
/»%, 4364 Ce/ f/ﬁmﬂ/
ID: 4.4.111 J@h (2)= 03¢ //J Ehk e

TR

In2 ,
Use the formula t= e that gives the time for a population, with a growth rate k.@uble. toa

24,

questions. o= S
4“‘ /
The growth model A=10¢ 0.004 yescribes the population, A, of a country in millions, t
0.004¢
) . "

a, What is the country's growth rate? Z 0= /C) 6 0.00% /&7/2’) _ 0 00? £
™ 20 _ /66’ 0:0(/(( g W

/ 2 —_—
b. How long will it take the country to double its populéTéTm‘? ( Z / _é '_V

years (Round to the nearest whole number) J‘" fi )Y MiAry

0 OUVé /
Answers 0.4 /@4(2) = _/g‘-x @ / 73 2?67? ﬁ-——

la(2) = Qo5 Mnfes
ID: 4.5.35 /&?(Q)F J- &UQ{KI/
A 2) = Qutiiy & S

Bof e s
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25. (Solve the given system of of equat ons:. - G - c| : 3
X+ y+6z= -9 \
e [ j s - | )
/ -—f-( _

= - ‘\_
x—4y -6z 10 : G — >

Select the correct choice below and fill in any answer boxes W|th|n your choice. /
rr—( (“‘) o

) /MJW > //M’r/’/

) A. There is one solution. The solution set is
{( , . ) }- (Simplify your answers.)

(O B. There are infinitely many solutions, / O -

) €. There is no solution, VV < )[ ( m}) O w

Answer: A.
There is one solution. The solution setiis {( vl 5
answers.)

X, 1, 2)2 ( ) ) e

ID: 5.2.5 L sk
—_—

26. Writa@e first four terms of the sequence whose general @

2n
n+7

o

] )} (Simplify your

a,=
a; = {Simplify your answer.)
a,= {Simplify your answer.)

ay= (Simplify your answer.)

a, = (Simplify your answer.)
4 P j 2 71) . T_ /1 . __]_ %
Answers 1 a ’ B "'f7 5 ﬁ(/ ? a'”‘ 5 W/
7 _.
4
9
3 /
5 L~
8 Gind bt

14of 15 6/17/2019, 7:31 AM
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3\\ 3
Find the ifidicated sum. > ii+2)
&.—“m’/ j=q
iCl+1) ~ 2(2rt) + 3(372) =

3
D i(i+2)= (Simplify your answer.)

/(%) +2 ) 72(5/= @VZ

¥ 7/
Answer: 26 & @ )L/
= An Swrer”

27.

ID: 8.1.33
28. Us@em o expand the binomial, . Bz _—
(5x-2)°
{5x - 2)3 = {Simplify your answer.)

Answer: 125x° - 150x? + 60x - 8

1D: 8513

CGX)(L + C—'CM)(L} "+ C(ﬁxj/z)f C(ﬂl/ /ﬁ_
asie QUK AN+ (Jen -+
(I (1ex Kt B ) e 0 + G ) + (1) (1) -8 =
W ..
25K /50X " A Gox — 8/_,4)45‘“/

/2 prcti, ey NCr, eate, 0 enbr <[
//17 [4 /?/6 /7(1/' - L'_f /j Cale,r < 3 x
w Lo —
2 //LH,L4 %’4 MC// t"./. »/ Z} c 3

Us¢ @ jrawaj Col culathr

15 ui’l!&,___,____ﬁ-—w-— — — 6172019, 731 AR




